2nd Cycle

System Test CHS A

Project Team
T3

Date
2013-05-30

- VAT &8 & -

Team Information

QF=10l 200911400
HMZ 200911418
st=SH 200911429



1.Test Case Specificationso]] st O]

‘ Test Case No3. (single constraint)
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‘ Test Case No6. (single constraint)
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‘ Test Case No7. (single constraint)
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‘ Test Case No8. (single constraint)
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Test Case No21l. (combinational test case)
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Test Case No22. (combinational test case)
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Test Case No23. (combinational test case)
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Test Case No24. (combinational test case)
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| Test Case No26. (combinational test case)
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| Test Case No28. (combinational test case)
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| Test Case No29. (combinational test case)

2= 27| 27 : EB{A| — speciall

2

0z

=X M E HEo] Mg FX| B¥n FxA Z#2 A2 O &I
ol EMYOE WY 20| OtL Y oLL 7|59l EdE fI5H0 F

Tkt 2 ZH ALY,
Ohgl B AW UM S HPY W2 Jls HE.
1t

| Test Case No32. (combinational test case)

2= 27| 27 : EB{A| — speciall
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| Test Case No33. (combinational test case)
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| Test Case No34. (combinational test case)
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| Test Case No35. (combinational test case)
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| Test Case No39. (combinational test case)

2= J2|7| 27 : E3{A| - special2
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| Test Case No43. (combinational test case)
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| Test Case No44. (combinational test case)
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| Test Case No46. (combinational test case)
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| Test Case No49. (combinational test case)
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| Test Case No51. (combinational test case)
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Test Case No53. (combinational test case)
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| Test Case No54. (combinational test case)
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2. Additional Error o] tjjst &

Error 1
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Error 2
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